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A= 8,017,793 7,893,331 124,462
= 4,920,135 4,845,135 75,000
z 380,320 380,320 0
2l 67,500 67,500 0
< 624,964 624,964 0
Al 2,024,874 1,975,412 49,462
FHHE 2 7,775,886 7,702,386 73,500
= 4,903,135 4,828,135 75,000
z 380,320 380,320 0
2l 67,500 67,500 0
< 624,964 624,964 0
Al 1,799,967 1,801,467 A1,500
F=HIIBAIE 22l 6,548,246 6,582,546 34,300
= 4,795,895 4,795,89% 0
2l 67,500 67,500 0
< 607,804 607,804 0
Al 1,077,047 1,111,347 134,300
SSTE 2el 383,387 443,387 60,000
402 QIEAF=0IA 330,000 390,000 60,000
01 QIZEXH= A 2 (RAMITH) 330,000 390,000 60,000
SIS 2P/ XM (ARE ZF) 310,000 370,000 60,000
S48 s&EcESN 24,000 4,000 20,000
401 AlZHIYL S O] 24,000 4,000 20,000
01 Al€HI 24,000 4,000 20,000
SHE sECIESAM A=0I=E) Y 20,000 0 20,000
ZOHDIOHLIE 22 AR EIIR 04 5,700 0 5,700
405 RHatE SH 5,700 0 5,700
01 AL ESFISHI 5,700 0 5,700
ZOHDIOHIHE &IIF7 POH(EXMIS) 1,700 0 1,700
ZOHDIOHIE &IIF F0H(IH?) 4,000 0 4,000
FHEE e 444,500 336,700 107,800
= 107,240 32,240 75,000
< 17,160 17,160 0
Al 320,100 287,300 32,800
20258 XX 2IEEH] RIHAS 107,800 0 107,800
= 75,000 0 75,000
Al 32,800 0 32,800
401 AlEHIZL S0 107,800 0 107,800
= 75,000 0 75,000
Al 32,800 0 32,800
01 Al€HI 107,800 0 107,800
BIYEHI(EN) XI2A 107,800 0 107,800
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= 75,000 0 75,000
Al 32,800 0 32,800
BEHE JE 82,645 72,145 10,500
I3HE 29 42,500 32,000 10,500
33U HRF&A 42,500 32,000 10,500
201 et 3| 35,500 25,000 10,500
01 AtR2elt] 35,500 25,000 10,500
ASEASLE MHMAA 29

3,500,000 *8 24 28,000 17,500 10,500
HY2HHFY(A=) 97,000 69,800 27,200
[=2ZHl 97,000 69,800 27,200
JlE&dl 97,000 69,800 27,200
201 et 3| 53,000 48,000 5,000
01 AtR2elt] 38,000 33,000 5,000
MSLONHIS BHOIE Mel8X 5,000 0 5,000
405 KHAHE S| 23,600 1,400 22,200
01 AR ESEFHSHI 23,600 1,400 22,200
dreEll 1Y 1,000 0 1,000
ZMMED 2 1,200 0 1,200
A4 JHHIR A 20,000 0 20,000
MEEs 28,262 15,000 13,262
S2HXE 13,262 0 13,262
=&H|BEg 13,262 0 13,262
802 Btat=DIEt 13,262 0 13,262
01 2 NEX3LHEZ 10,202 0 10,202
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